Twiss and Aperture output

@ HAME #05= "TWISS"

* HAME N1 Y APTOL 1 APTOL 2
"VAMSE . 6LZ2 E.B1" 14 84747298 0.o000oo000n0 0.00400000 0.o00oo0o0n0
"BTVSS . 6LZ2 B1" 0.76503188 0.o000oo000n0 0.00000000 0.o00oo0o0n0

@ HAME #08= "APEETUEREE"

@ at_eslement ¥1ld4= "BTVSS eLZ2 B1:1"

* HAME N1 ¥ RTOL ATOL
“VAMSE . 6L2 E.B1" 15 .94491910 0.00585000 0.o04o00000 o.oooooooon
"BTVSS . 6LZ2 B1" 0.76503188 0.01170000 0.00000000 0.o00oo0o0n0
"BTVSS . 6LZ2 B1" 7. 09062969 0.00585000 0.00000000 0.o00oo0o0n0

|

@ HAME #05= "TWISS"

* HAME N1 Y APTOL 1 APTOL 2
"BTVSS . 6LZ2 B1" 6.94604625 0.o000oo000n0 0.00000000 0.o00oo0o0n0

@ HAME #x08= "APERETURE"

@ at_element #1ld= "BTVSS . e6LZ2 B1:1"

* HAME N1 Ky RTOL ATOL
"BTVSS . 6L2 B1" 6.94604625 0.00585000 0.00000000 0.oo0aoo0a0n

"BTVS=s.6L2  E1" 7. 090629619 0. 00585000 0. oooooooo 0.ooooooon
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